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1.  According to the latest Air-Quality Report (2024) which Indian City emerged

as the most p_qlluted ?

(A) Guwahati ' (B) Saharsa

(C) Begusarai (D) Kathar

o 2024 w1 I TOEE TR & FER wmuﬁ%u@ﬂwaﬁw% ?
@) TEE (B T

(C) T (D) HTER

2. Which position India got in ETU's Demdcracy Index-2023 ?
(A) 5ist _ | (B) 65th
(C) 41st (D) 49th

b %ﬁmw—zo%ﬁ m@ﬁwwmw ?
(A) 51t (B) 658
(C) 41af (D) 49df

3. Who has been selected for the Bob Jones Award, the highest honour of the
US Golf Association ? | '

(A) Tiger Woods (B) Jack Nicklaus
(©) Walter Hagen -~ (D) Harry Vardon

iwﬁwmﬁﬂﬁﬁwﬁlﬁﬁﬁqg{wzt% T Y A T
g2 |
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4.

Given below are two statéments :

Statement I : The Shinkun La tunnel is at an altitude of 15,855 ft.

Statement II : The length of Atal tunnel is about 6.02 km.

In the light of the above statements, choose the most appropriate answer from

the options given below :

{A) Both Statement I and Statement II are correct

(B)I Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

%

=2 @ o Re W ¥ .

F i

wo I : T @1 g 15,855 Wie & HEE W T

HUT I : o= GO % TR 6.02 fEE. ¥

syifaflas weEl & oeR W e Ry mu foesd ¥ 4 w9 3 SR W g
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5. Given below are two statements :
Statement I : Ram Mandir is designed in Maru-Gurjara sub-style.

Statement I : Ram Mandir is designed by the Sompura Familjf of

Ahmedabad. ' R
In the light of the above statements, choose the most appropriate answer from
the optipné given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and*Statement II is correct
A= D we g T ¥
wAT ;9 AT W AE-Ten st A fesea fear mar ¥
Fo IL : TW WRT W SEEER $ UM UReR g fewmed R ¥
Sufiffen el & omR W AN Ry g freeedt 4w sfaw 9w W 9O
Hfw
(&) Fo T 3 Fo 10 Q6 wé & -
(B) %o I &R %o 11 9 7o §
(C) wher I W&t § R &9 II e ®

(D) FoF.1 T ¥ iR Ho I w8 &

TBC : 24/ECP/I—A 4



8. Given below are two stdtements :

Statement I : Bab el-Mandeb strait off the tip of Yemen is a maritime choke

point in Red Sea crisis.

Statement IT : Bab el-Mandeb strait forms the western entrance to the

IRed Sea.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect anc Statement II is correct
o D w Re T ¥ o
U 2 % % fR W fod 99 sfe-wie Seeneasd A 9N Sae H ww wst
ey forg %
HYT I : 99 3-TRA SRISHEHS TE WIR H UREH WEe gR S ¢
SuRffem Her % MuR W AN iy g foredt # ¥ v sfem s oW g
HifeE
(A) ®o 1 3k o I S Wl ¥
(B) %9 I &R ®u7 11 SHI Toid ¥
(C) o I W& ¥ iR wo II 7erd &
(D) %97 I oG § WX wod I w@ ®©
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7. Arrange the following Indian cricketers completing 1000 runs from youngest

in age to eldest in age :

(1) Yashashvi Jaiswal (2) Ravi Shastri

(3) Sachin Tendulkar (4) Kapil Dev .
Choose the correct answer from the options given below :

Aa) (D), @, 3), @) B) 3), @), 2), 1)

© @, ®), @, @ ® (@, W, @), @

a1 I T T § 9 7% 1000 T R B T FrAraren gRdiE kel w saated
Eqicu

(1) =l ST (2 I wed
(8) @ gt (4) iy <
D Ry o foered # ¥ W SW W A Wi
A (), 2, 3), @ _ B) (3), @), 2, (1
©) @, 3, @, @ D @), W, 36,4
8. Arrange the following National days in chronological order of their
occurrence : \
(1) National Mathematics Day  (2) National Science Day
(8) National Youth Day (4) National Energy Conservation Day
Choose the correct answer from the options given below :
A) ), 2), 3), 4D | B) @), (3, 1), @)
(C)- (3), (2), 1), (1) O (@), @), (D, 3) _
frfofed T el &1 o1 Slhas w0 =ae S
(1) T e o @ U A e
(8) UM gen T 4) T el wem e
= g g fowed # W SW H A K
@A) ), @), @), @ (B) (@), (3), (), @
(C 3, (2), (4), (1) D) (2), 4), (1), 3)

TBC : 24/ECP/I—A ' 6



9.  Arrange the occurrence of the following Global Summits of 2024 in chronological

order : |

@) WTO

@ G7

(3) UN Convention on Biological Diversity

4 G20

Choose the correct answer from the options given below :
(A) (1), (2), (3), @

B) @), 3), @), (1)

© @), @, @), @

@ @), (1), @), ()

2024 % Frafafes 3few frer Toed # 9o B weEhE w9 8 ot
FIfSQ ¢ '

Q) =g & =it

@ sh7

(3) “faw fafawm | Ty us =M

(4) w20 ,

e fiT T fawe d  w® swowm g s
A) @), @), (3), @) -
B) @), (3), @), (1)

(© (@), (@), M), @

M) (@), (), @), @)
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10. Consider the following statements : ‘
(1) ‘Risa’ is a traditional tribal dress of Assam.
(2) National Dolphin Research Centre was inaugurated at Patna.
(3) Underwater metro.r rail servicé has been inaugurated in Kolkata.

(4) Satellite and Payload Technology Centre has begﬁ started at Sriharikota
in Andhra Pradesh.

Choose. the correct answer from the options given below :
(A) (1) and (2) only

(B) (3) and (4) only

(C) (2) and (3) only

(M) (1) and (4) only

frafafem sl | oo =i

(1) ‘ReEr’ oww t uRufis ieard dRmE €1

@ TS Sifeh FTHYE H B SqEe T # feer T ¥
(3) wraEE T setEex AQ W Yo o SqERd [EE T €

@) @iy wRw & sefwe § Yeume o Ide Urifrl $= & YHAId Hi
T R '

W9 Ry m el # ¥ v} SR I FRE
(A) e (1) ¥R (2)
(B) waa (3) 3R (4)
(C) Haw (2) ik (3)
(D) e (1) 3R (4)
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11. Consider the following statements :
(1) XPoSat will unravel the mysteries of black holes.
(2) XPoSat has a cost more than $188 million.
(3) XPoSat expected 1ifespa-n is two years.
(4) XPoSat was launched from Sriharikota in Andhra Pradesh.
Choose the correct answer from the options given below :
(A) (1) and (4) only
(B) (2) and (8) only
(C) (1) and (3) only
(D) (2) and (4) only
Frafafen se w foer Sk
(1) wraide <@ 99 & w@ § e sem
(2) THUE %t @a 188 fafkie sier ¥ afyw ¥
(3) TR w e A W B W eEiE g
@) T W Sy Ra B shefee @ W e T @
9 R T e 8w S W T R
(A) #ae (1) 3R (4) )
(B) %ad (2) 3R (3)
(C) ®a& (1) s (3)
(D) Ha (2) IR (4)

TBC : 24/ECP/I—A ; 9 . P.T.O.



ety W), T Srne—e—ed 7

12. Consider the following statements :

(1) The International Solar Alliance headquarters is located at Gurugram,
Haryana. -

@) Coalition for Disaster Resilient Infrastructure is located at New Delhi
(3) The International Solar Alliance was USA idea.
(4) Quad has brought together India and Russia. .
Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (2) and (3) only
(© 3 and (4) only
D) (1) and (4) only .
feifafed wed W faem =i
1) aiﬁﬂ@aﬁﬂnaémmgwmm%wmﬁﬁ%%l
@) srEr SRR gfEEt o # fau e W et # RO
(3) STRI=E 'ﬁn TEeEE 4UET W fEER ol
(4) e 9RE R W w ST 9 § wEEE g ¢
ﬁ%m-wﬁﬁﬁﬁm’rmaﬁaﬁﬁaﬁﬁﬁ:
(A) Baa (1) 3R (2) )
(B ®aE (2) ¥R (3)
(© Fm ) IR @
(D) Faa (1) 3R’ (4)

TBC : 24/ECP/I—A 10



13. Consider the following statements :

(1) Computer scientist Hari Balakrishnan was awarded the 2023 Marconi

Prize.
(2) Central Industrial Security Force (CISF) raising day was revised in 2022.
(3) The widest gap of Western Ghats is at Palakkad in Kerala.

(4) Flyash is a wanted burnt residue in coal thermal power plants of India.

Choose the correct answer from the options given below :
(A) (2) and (4) only
(B) (1) and (4) only

(C) (1) and (3) only
D) (2) aﬁd (3) only

frefafes Fol W R S

(1) FR ST ek AAFE B 2023 T A WEE WH R o

(2) w=a Sl W 99 (Mo TaTs.) = e feaw o 2022 # g
feran T

(8) U=t = = wad 99 U Fa B Uowes § B

(4) TSR WK @ BT @9 Fgg @ 4 @ifsd e g ey ¥
e R MY Tl # R WE SR OH g RIS

A) F79 (2) @R @) )

(®B) Bt (1) 3 (4)

(C) =a@ (1) 3iR (3)

D) Haa (2) 3 (3)
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14. Match List I with List IL.:

(@)
(b)
(e)
(d)

List I List I,
(Payload) (Date of launch)
Cartosat-3 ()  September 2, 2023
Aditya-L1 ] @iy May 22, 2019
XPoSat (Fii) November 27, 2019
RISAT-2B | Gv)" January 1, 2024

Choose the correct answer from the options given below :

@ ® @@ @

(A Gy @ Gu) 6@
®) @ ) G @)
) @ @ 6 @) .
D) () G G Gv) .
g 1w gE 11D e S
T I ' et I
(Yers) (A== fafen)
(@) HRIE-3 @) Taasr 2, 2023
(b) snEE-TEl Gi) T 22, 2019
© T | (i) R 27, 2019
@) Fde-od Gv) “Ed 1, 2024

. R fru e faeedl d R WE W gEE SIS

(A)
®)
(&)
(D)

@ @) © @

@iy @ Gv @)

@ G G @)
Gvy G @ @D
@ @) @ @)

TBC : 24/ECP/I—A 12 -



15. Match List I with List II :

List 1 - List II
(Summit in 2024) (Location)
(@) ASEAN ; (®) Baku
() COP 29 () Kazan
(¢) BRICS (i) Washington
(d) NATO ’ (v) Laos

Choosr_e the correct answer from the options given below :
@ @& © @
A @ @) Gv G
(B) @) G G 6)
€ @ ) @& G5
O @ @ @) @)
o I gt I 9 T wifed |

W I et 11
(2024 & fyrew waYe) (FeIT)
(@ e () =
(b) HMT 29 (@) WA
() Tormm i) afETe
(d) Gv) TS

T2 Ry fowe § 4 W ow g Wi
@ & © @ )
A @ @) @Guv) @D
@) @) @ G @)
C) @ @ @ @)
D Gy @ G G
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16. Who wrote it, “If the praducers are crippled, the farmers are burdened with

taxes and a huge amount of the revenue is sent out of the country, then any
country in the world will become permanently poor and will have to face famine
again and again.”

(A) Dadabhai Naoroji (B) Ramesh Chandra Dutt

(C) Gopal Krishan Gokhale (D) Anand Mohan Bose
%Wﬁ@ﬁ,“qﬁwﬁﬁmmm,mﬁmﬁmmm
fore wq & g B o & Tomd WROW SR ® S 3K IH FFE H FR-IN
AT & ge 1

(A) TRIME ST (B) THwE= T

(C) TirgTeisRser  Tired @) @< Aed 9|

17. Dandra Movement, which took place against the New Land Settlement in
Bilaspur in 1930, the people of which Pargana first started a movement against
the land settlement ?

(A) Ratanpur (B) Rampur
(C) Bahadurpur (D) None of these

s@a@m,ﬁlgaoﬁmﬁ%@a@aﬁﬁmww,mqﬁ
fpE TN @ At 7 ufn aew & fes SkRer 99 91l

(A) TR (B) THIX

(C) TERR O T B
18. Who was the founder of “Balsan Thakuria” ?

(A) Moolchand (B) Kunwar Singh

(&) Eiihead (D) Alak Singh

toe SRR FEUE B 9 ?

(A) HEER (B) &= T4

(C) ®==< (D) ek foe

" TBC : 24/ECP/I—A 14



19. Given below are two statements :

Statement I : The author of the book — “Pakistan or the Partition of India”
-was Dr. B. R. Ambedkar.

Statement II : The childhood name of Swami Ramakrishna Paramhansa was
‘Gadadhar’. ‘

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incoﬁect anc Statement IT is correct

F= < wer Ry ¥

AT I 'ufrwd ok & wifvm ofe femr” — w%@wﬁ.ﬁ. IR.
sfeR ) |

FHIT I : W TAE WHEE H wE9 T AW EER o7

SIRfafeq werdl % euR R A Gy Ty famed § ¥ wed Sfaw SW % oE
HIT

(A) FoF I @R B I 9N W@ E
(B) =M I 3R %o II <N 7o §
(C) oM [ WE ¥ 3R Fom II o ¥
(D) FF I oW ¥ ot wow I W ¥

TBC : 24/ECP/I—A 15 ' ' P.T.O.



90. Given below are two statements :

Statement I : “Bhartiya Rashtriya Samajik Sammélan” was founded by

Swami Dayanand Saraswati in 1883.
Statement II : Veda Samaj was established in 1867 at Karnataka.

In the lighf of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(®) Statement.l is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

fo @ wud Ry e ¥ *
w1 : ”W’Tawﬁﬂmﬁmqﬁaﬂ”ﬁwmwwﬁﬁ 1883
i+ dr

o 11 : '3 g @) TeT eeled H 1867 W g ot

Softfafod S ® omuR W A Ry e fwed # @ ey fed SWOH g
Hited - '

(A) FoE 1 i o I €F Wel % -
(B) FuF 1 3R Fu= II 991 Tod §
~(C) w1 W@ § SR wud I oW ¥

D). FoF 1 Toa 3 R we 11 T\ %

TBC : 24/ECP/I—A 16 -



21. Given below are two statements :

Statement I : Chamba had its own cfurreneiT since ancient times. This was

called “Chakli”.

L}

. Statement II : Raja Lalit Verman of Chamba had built two temples named
.‘Chandragupta’ and ‘Kameshwar’ in Chamba.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
. (C) Statement I is correct.and Statement II is incorrect
(D) Statement I is incorrect a13d Statement II is correct
= e g T E
o ;S R A e @ sl g SeRt of, T el W A

w00 : 9% B TeT At a9 A T A e ol (wmveR’ T 8 S AR
Epiciy '

mﬁﬁ@amﬁ%wmﬂ%hmﬁwﬁﬁ.@ﬁaﬁamww
EqiEC A

(A) Fo 1 R o I W8 § -
(B) %A I 3R %o II g9 Teid ©

(C) %o I 9 ¥ 3R o II e &

D). %oF I e § iR w9

TBC : 2¢/ECP/I—A 17 . P.T.O.



22, Arrange the following events related to Indian History in chronological

order : | C
(1) Formation of East India Associat‘ion in London |
(2) Formation of India League in. Calcutta
(83) Formation of Satyashodhak Samaj
(4) Establishment of Bihar Scientific Society
Choose the correct answer from the options given below :

(A) D, (2), (1), (3)

(B) (), 4), (3), (@)

©) (D), @), 2), (3)

D @), 1), 3), (2) - .

et e ¥ G T el B PR e R
(1) ved 9 §w= sfea wWiawm &1 T

(2) woehal H gfeA A # e

(3) TERles WHN &1 TS

(4) foer Fl's‘ﬁ!ﬁﬁ TS Y T

#e kg U fawedi § | Wl TR F A KA

(A @), (@), (1), 3) )

’ (i3) (1), @), 3), (2
(C) (1), ), 2), 3)

D) @, (D), 3), 2

TBC : 24/ECP/I—A 18



23. Arrange these Pre-Congress Associations in chronological order :
(1) ‘Indian Association (2) Bombay Presidency Association
(3) British Indian Association (4) Poona Sarvajanik Sabha

Choose the correct answer from the options given below :

(A) (D), (3), (4); (2) B 3), (1), 2), 4

©) 3), @), (), @) D 3@, @,
I F T AR F T A HFER e i
(1) sfe wEfawEm @ O JeEe e
8) fafew sfeam wEifeqm 4) I wESE g

9 Ry U fawed § @ W SR FH TAE HiE

(A) (D), (3), (4), (2) B) (3), (), @), @

(C) 3), (1), (1), (@) ' O 3), B, @), (V)

24. Arrange the following rulers of *Suket State’ in chronological order :

(1) Bhimsen (2) Rudrasen

(3) Ugrasen (4) Lakshmansen

Choose the correct answer from the options given below :

(A) (2), 3), (4), (1) ®B) 3), @), O, @
) @), (), 3), 4 (Dj 3, (L), (2), (4)
‘ﬂéﬁ.w’ & Frafafes el # sageR seieg s .
1) i | @) w8 ;
@) wRE (4) aASRA

3 fu T e ¥ ¥ wd Sw W g iR

(A) (@), .(3), (4), (1) B) @), (@), 1), @
€ @), MW, 3), @ D) (3), (D, (2, @)

TBC : 24/ECP/I—A 19 | P.T.O.



 95. Consider, the following statements :
(1) Paramhansa Mandali was established in "Madras.
(2) Alfred Webb was the first Englishman to become the President of Indian

National Congress.

(3) Badruddin Tyabji was the first Muslim to become the President of Indian
National Congress.

(4) The Indian National Congress did not participate in the Third Round Table

Conference held in London.
Choose the correct answer from the options given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (3) and (4) only
D) (1) and (4) only
Frefefied e R foEr wiw -
(1) ALY wogeEl H T WEE H g8 ot |
(2) srebe 99, Wl T HHOW § deyg 9 a1 e IS A
3) wed Yo, el T S $ o T T e e A
(@) v T A ¥ TR A o e der e # W T e e
e o T el § ¥ W@ W W gAE HRA
@) e @ 3k (@) i
B) F9 (2) 3R (3)
(©) Fa () R @)
(D). Fad (1) 3R (4)

TBC : 24/ECPI—A 20 -
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96. Consider.the following statements :

(1) In 1910, at Allahabad Session of Indian National Congress was “Jana-

CGana-Mana” sung for the first time.

(%) Swami Dayanand Saraswati had hoisted the ‘Pakhand Khandini Patake’
at Allahabad in 1867 A.D. '

(8) The last Act was the Charter .Act of 1853 for the East India Company.
(4) The modern educated Indians élso did not support the Revolt of 1857.
Choose the corréct answer from the options given below :

(A) (1) and (2) only

(B) (3) and (4) only

(©) (2) and (3) only

(D) (1) and (4) only .

ot werl W R S

) TR T HHE $ 1910 % sREE AEH 7 geel 9K “a-_rr—m—m” T
RIC e

2) W TAEE W A e efvsdl T 1867 <. T SoeE®E H WEUs Il
@) sifm sfufem S e wEE @ fow 1853 @ WEL SRR el
(4).3¥T§ﬁﬂﬁ1f&ﬁm%5ﬂ1857$ﬁﬁﬁwwﬁ?ﬁﬁml
S R e freed d @ WE SR W T FRR
(A)@aa(naﬁ(z) | )

(B) e (8) 3R (4)

(C) @aa (2) ¥R (3)

(D) FFA (1) 3R (@)

TBC : 24/ECP/I—A 21 - | P.T.O.



27. Consider the following statements :
(1) The first Singh Sabha was founded in 1é73 at Amritsar.
(2) Gyan Singh was the first President of Singh Sabha. |
(3) Thakur Singh Sandhawalia was the first Secretary of Singh Sabha.
(4) Khalsa College, Amritsar was established in the year 1892.
Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (1) and (3) only
(C) (1) and (4) only
(D) (2) and (4) only
frefefen sl W FER FIRE
(1) wom 898 §W & €A 1873ﬁewwﬁ§§a°n
©@ i g, fos W & W Sy A1
3 ot Ris werafen e @9 & w wrm 4
(4) EreE Few, YR W wE a6 1892 F g ot
Y ey T Rwed § ¥ W IR W T R
(A4) Ha (1) R (2) .
(B) W 1) 3R (3)
(C) e (1) 3R (4)
(D). e (2) 3IR (4)

TBC : 24/ECP/I—A 99, -



28. Match List I with List II :

List I - List II
(Governor General/Viceroy) (Major Events)
(@) Lord Lansdowne (i) Establishment of High Court in
' . Calcutta, Bombay and Madras
(6) Lord Northbrook (@) Indian Council Act of 1892
(¢) Lord Dufferin (i) Third Anglo-Burmese War
(d) John Lawrence (rfv) Kuka Movement in Punjab

Choose the correct answer froxﬁ the options given below :
@ ® © @ |
A) @) G © ()
B) @) @ @
© i) G G 6
D) @) G@v @) @
T 1w g IR e weE

gt 1 gt 11
(T S /araaT) (T&A W)
(@ € THeRA L (G) e, SE, AR H Iee e 1 e
B) S MAYF (i) fem FRfow = e 1892
) IS swhA Gi) qa eI gs
(d) <7 @R (v) T H g oM

9w T el # @ Wl S W g FeE
@ ) ) @ -
@ @ @ O G
B) G @ G O
(C) @D Gv) @G 6@
M)- G) @) @) @

TBC : 24/ECP/I—A 23 . P.T.O.



29. Match List I with List II : .
List I - List II

(Associatim;![’arties) (Formation Year)
(@ Punjab Riyasati Praja Mandal () 1906
(b) Adivasi Mahasabha ' G) 1936
() Depressed Classes Mission (¢77) 1928
(d) Independent Labour Party - () 1938

Choose the correct answer from the options given below :
@ @ ©@ @@
(A) @) Gv) @ G
B) ) G G @)
© Gv) GG @G @
D) @) @ @ W
TEN I %1 g= I fher i Y

LU S et 1

(TR /ared) (7T =)
(@) U famndt w=1 Hea @ 1906
(b) nfgaTEt FERI (@) 1936
) Teire Fonfas foem - Gi) 1928
(@) - sfetide omr ot Gv) 1938

T RT T feed § @ 9@ sw oW e i
@ ) © @ -
(A G @) @ G
B @ @) @ 6
(C) Gv) G G @
M) . G&) G 6@ G

TBC : 24/ECP/I—A 24



30. Match List T with List II.:

List I
(Newspaper/Magazine)
(@) Amrit Bazar Patrika ‘
(b) Harish Chandra Magazine
| {¢) Bombay Chronicle
(d) Bharat Mitra

" List II
(Publishing Year)
@ 1913
@) 1878
(Gii) 1868
(iv). 1872

Choose the correct answer from the options given below :

@ ® © @

A G G © G

B) Gv) G G 6

© Gu) G & G

@) G G) 6 G
o 1w g I e s

gt I
(AR /A E>ahT)
(a) oA SSIR eI @
) wieras Hsid )
(¢) S Wil (i)
(@) @ fi= ()

et 11
(WRTe )
1913

1878

1868

1872

H fu g fawedt # 4 € W F TIE Hita

@ ® © @
QA GE) @ O G
®) G Gi) @ 6
© G G 6O G
D) Gid) G @ @)

TBC : 24/ECP/I—A 25
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31.

32.

33.

Podu form ‘of shifting cultivation is popular in which of the following states

of India ?
(A) Odisha (B) Assam
(C) Kerala | (D) Chhattisgarh

@@ﬁmﬁgww%ﬁﬁﬁ@aﬁ@mwﬁm% ?
Aa) =ifewn _ (B) Imm

(C) =% - D) TEETE

Shisgars are the skilled workers of : |

@ Polymer Industry (B) Glass Industry
(C) Drug Industry + (D) Ceramics Industry
R gy st €

A) WeR w@m H ®) m s A

(©) ofufy s2m & @) = gt s #
Lyons is a major industrial town of : |
(A) France (B) Spain

(C) Germany D) Italy

T F qeE SR v ¥ e

A) FE ®)

o
(C) T ' @ e

TBC : 24/ECP/I—A 26



34. Given below are twol statements :
Statement I : Escurial is a famous structure of France.
Statement II : Brandenburg Gate is a famous structure of Jerusalem.

. In the light of the above statements, choose the most appropriate answer from

.the options given below :

(A) Both Statement I and Statement Il are correct

(B) Both Statement I and Statement II are incorrect
{C) Staten:;ent 1 is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

a4
.

T € wyw iy U ¥

o 1 : @R BE N O9Es W R
w10 : seder T2 SR9em i TH URes W g

' suftfefas S & R | A Ry g e ¥ 3 wod 3@ SR w1 TE
FHIfTd : ‘

(A) o 1 3R wod ISR wet %
(B) &u I &Ik Hu I SH o &
(©) #od I 98 ¥ @R o II e ®

(D) *ud I 7o & 3 e I ¥ &

TBC : 24/ECPA—A 27 - - PT.O.



35. Given below are two statements :
Statement I : Patsari river is a small tributary of Tons river.
Statement II : Patsari river originates near Kharapather in Shimla district.

In the light of the above statements, choose the most appropriate answer from

the options given below

(A) Both Stat;ament I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is ihcorrect and Statement II is correct

49 g sye feg U ¥ -
HUT I : AUl A9 T HI WE DI gEd g Bl

L
-

HAT 00 : waudl T Reen S & eweR & 1w ¥ et €

SuRfefe o & emER W Y Ry T faeed # § wed 3t S @ o
HIf

(A) % I &R ®97 11 g9 wel € "
(B) F9 I &l %o 11 4 e &

(C) e I Wel § iR & II 7Tem ©

D) F4 I Tod § 3 wu= [ o8 ¥

TBC : 24/ECP/I—A 28 -



36. Given below are two statements :

Statement I : Bara Shigri glacier was first sui'veyed by Walker and Poscoe
in 19086. ‘

Statement II : Bara Shigri is the largest glacier in the state of Himachal
- " Pradesh.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II' are correct

(B) Both Statement I and Statement II are-incorrect

(C) ‘Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

H.<1 wem kg W ¥ e _

FoT I I R TRER 1 e AR 1906 F i o wen g wee fhe
T “

e 10 : o) RSt fearee ww 99 F TS Sel TWeE ©

mﬁ%@amﬁ%wmmﬁﬁqwﬁﬂﬁ@wﬁﬁammw
Hifod

(A) ST 3R w10 S W ¥
(B) &ua 1 @R weM II 9Hi 7era §
(C) Fu 1 W& § SR wud II Mol ¥

M) FeA I o0 & R we 11 T %

TBC : 24/ECP/I—A 29 - P.T.0.



37. Arrange the following states of India from highest to lowest flood prone area :

(1) Bihar " (2 Punjab

(3) Rajasthan (4) TUttar Pradesh
Choose the correct answer from the options given below :
(A) (2), @), (1), 3) (B) @), (1), @), 3
©) @), 3), (2), 1) D) Q), 3), @), 4

TRA % Frefafed T= R Seeaw ¥ e 9 TaiE 85 B SuR W syafium
ENEpEE .

(1) TR i (2) s

(3) TsTEAM (4) W WeH

T g T el # ¥ W@ SR w1 e SiRE

(A) (2), 4), (1), (3) B @), (), (2), (3)

(C) @, 3), 2, (1) M @), 3), (2), 4
38. Arrange the following centres oficotton textile industry in Ind1a from north

to south :

(1) Phagwara ' (2} Cuttack

8) Guntur : (4) Tirupati

Choose the correct answer from the options given below :

A (D), @), 3), 4) ((B) @), 3), (2), (1)

©) (2, (4), (1), (3 D @), (3), (2), @

Wﬁ@%aﬂam@ﬁwﬁ#@aﬁﬁm@ﬁwmﬂﬂmﬁ%'
FIN

1) wmEET ' ' @) wH

@) TR (@ foeofa

e kg T fawed # @ wWE SR W gAE ik

(A) 1), @), 3), @ B) @), 3, @), D)
- © @), @), (), (3) D) @), @3, 2), 4)

TBC : 24/ECP/I—A 30



39. Arrange the following countries of Europe from East to West :

(1) Ukraine (2). Belgium

(3) Poland _ e (4) Germany

Choose the correct answer from the options given below :
(4) (), @), @), @ C® @,6), @
© (1), (2, 1), 3) . D (2), (4, (1), 3)
[ & Freffen 3 o @ o w9 ol e W
(1) IH 2) SfesEm

(3) UiE (4) <P

de T U ol § @ wE SR oW gIE s

A) (D), @), @, 2 B) @), 3), 4, 1)
C) (), @), @), 3) D (2), @), (D, (3)

40. Consider the following statements :

(1) Simlipal biosphere reserve is in Tamil Nadu.
(2) Panna biosphere reserve is in Madhya Pradesh.
(3) Bhadrak mangroves pertain to Odisha.
(4) Gulf of Kutch is the largest mangrove of India.
Choose the correct answer from the options given below :
(A) (1) and (2) only ; (B) .(1) and (4) only ;
(C) (2) and (4) only (D) (2) and (3) only
fAfefem s w® fo=uR S : :
(1) fewfame sife Seven afemg 4 fam ¥
(2) T e Yarisw oo Wy ¥ fw ¥ -
@) v Hiw e gey oifewm ¥ ¥ '
4) w5 & TE H 9T w1 gy g1 g §

| AR T T fFeeed F ¥ W@ oSw w g SR
(A) e (1) 3R (2) (B) et (1) 3R (4)

~(C) Bad (2) 3R (4) @) Faa (2) R (3)

TBC : 24/ECP/I—A 31 | P.T.0.



41. Consider the following statements :
(1) Tel is a right bank tributary of Mahanadi.
(2) The delta of the Godavari river is lobate tj-?pe.
(3) Bhima river originates from Raj Mahal Hills.
(4) The Penganga river is 300 km long and rises from Satpura Hills.
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (1) and (3) only
(C) (2) and (4) only (D) (1) and (4) only
frefafen st | TER F=iE .
(1) & HEFEl w1 gfe fFAR w s w6 T
(2) TREN Wl W ST WEE qEve (AER) YHR H Bl
(3) "¥ifm & TeHeS w1 welfedl § Frmen ¥
(4) T = 300 Tt wet ¥ oiR woger weifedl ¥ Freext ¥
9 fog T fomed § ¥ W s W gae i e
(A) %= (1) ¥R (2) (B) whed (1) 3N (3)
(©) F=at (2) 3R (@) D) Faa (1) IR @)

42. Consider the following statements::

(1) Essex city is famous for engineering works.

(2) Leeds city is famous for watches production.

(8) Baku city is known for cutlery industry.

(4) Abadan city is known for oil refinery. "
Choose the correct answer from the options given below :
(A) (2) and (4) only (B) (3) and (4) only
(C) (1) and (4) only (D) (1) and (2) only
Frefafan s ® foer i .

(1) T TR SRR SEm & fag S oS §)

(2) g v wfed & soma & fog wfes 10

(8) 9 T I Fead UM & fAC T SE@r 2

(4) FEEF Y& 90 TET & AU S oS ¥

A fer e fremed 6 R Wl SR OE 9 SR

(A) #ad (2) SR (4) (B) 9 (3) 3R (4)
(C) e (1) 3R (4) D) e (1) 3R (2)

TBC : 24/ECP/I—A 32



48. Match List I with List IT :

List I . List II
(Glacier) . (Range/Region)
(@) Baltoro @)  Pir Panjal
(b) Sonapani _(ii) Kanchenjunga-Everest
¢ Milam Gii) Karakoram
(d) Zemu () Kumaon-Garhwal

Choose the correct answer from the options given below :
@ © ©© @@
A @D @ @ )
B) @) @) 6 Gi)
© @) @ G 6@
O @ @ O @
ot I w1 e I d foem ot e
T 1 TR 11

(TATRTER) ' . (Sruit/ &)
(@) SR @ IR
(6) ST (i) HATST- TR
© foem (i) SNEHRH
@ 3 (iv) FAR-TEEE

T Ry T T § ¥ W@ SW W g HiE
@ ® © @ )

(A) G G) @ G

B G G) @ Gi)

© Gy @& @) G

O G G @ G

TBC : 24/ECP/I—A 33 . P.T.O.

o



44. Match the forest cover area/type with their total area in Himachal Pradesh
(2021) :” - _
List I List II

(Density/Total Forest Cover) (Area in sq. kms.)
(@) Very dense forest above () 7,100
70 percent _ :
(6) Moderate dense forest @) 5,180
40 to 70 percent
(¢) Open forest 10 percent (Zir) 15,443
to 40 percent
(d) Total forest cover (iv) 8,168

Choose the correct options :
@ G @ @ -
(A Gv) @) G GEid)
B) @ G) Gv G
© @ G G ) N
D GG @ G G
forret wowr § (2021) FTeERT 8% % wHR/ST F Ho Aued ¥ Fra SRR
g 1 gl 1
(/e T A/87) &3 (it ferciidiey)
(@ ¥ 571 (70% ¥ A=) @) 7,100
(b) HeAH T = (40%-70%) G 5,180
© TI T 10%-40% Gii) 15,443
(d) FA = (v) 8,163
e RE T el § @ W sW W g R
(@ @) @© (@
A vy @ G G
B) @ @D Gv) @)
©C) G v 6@ @)
D). @ @ G G

TBC : 24/ECP/I—A - 34



45. Match List I with List I_I :

List I _ List II

(City) (River)
(@) Warsaw (i)  Vistula
®) Lisbon | " G Tagus
(¢) Hamburg (1) Elbe
(d) Bristol (Gv) Avon

Choose the correct answer from the options given below :
@ ® ©@ @
@A @ @ @ @
B) ‘@) G @ @
(C) @ @ @ G
M @& @ @ @
et 1w gen 11§ faem #iee

T 1 - gEr 1T

(TI) 1)
(@) @ fogen
®) forwa @) =™
(c) el Gii) TS
@) foea (ijv) WA

N Ry T fawed § A W SR B g N o
@ ® © @ i

Ay @& G) G G

B) .(v) Gi) G) @)

© G G & G

O @ @) @ G

TBC : 24/ECP/I—A 35 . BP.T.Qu



46.

47.

48.

Who- described the Indian economy as ‘Bullock Cart Economy” ?

'(A) Granville Austin (B) Atul Kohli

(C) Lloyd and Sussane Rudolph (D) Rajni Kothari
o IR erdereean #1 Sl Al i’ we ?
(A) TR eifes (B) orgel hiea

(C) @ig9s W& Yo wEeh D) T wer

Council of Ministers’ size has been restricted to 15 percent of membership of

Lok Sabha by which constitutional amendment ?

(A) 91st Amendment (B) 92nd Amendment

(C) 95th Amendment ; (D) 103rd Amendment
mﬁWWWmmﬁmmHmﬁmw 15 wiaerd @k

difgg & g ?
(A) 915 dHeiE (B) 92& OyieA
(C) 953 HIMeH - D 1039 gEie

Who among the following was not a member of the Advisory Council for Himachal
Pradesh which was constituted on Sept. 30, 1948 ? ‘

(K) Swenti Pummanand (B} Mehta Avtar Chand
(C) Lila Devi . (D) Satya-Dev Bushahrt

30 Toawr 1948 i s ferrael W ! Womsrl Wk d§ = 4 @ &1 w89
T e ?

(A) @ o= (B) Wedl ¥EUR ©E
() e D) T ¥ gued

TBC : 24/ECP/I—A 36



49. Given below are two statements :

Statement I : Finance Minister is final authority to decide whether a bill

is money bill or not.

Statement II : In Indian system of ‘dyarchy’ was introduced by Government

of India Act, 1935 during British period.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and: Statement II is correct

A @ Hu Ry T ¥

w1 =% foe wd fow ¥ o wd sue siftm ffa fom WS @ @

weg I1 : fofew w0 8 und sifufas, 1935 & g0 wRe # g9 T e
T

Eﬁmﬁﬁﬁ%eﬂﬂﬂm?ﬂ%mmﬁﬁﬁﬁﬁﬁaﬁﬁsrm IR H G
Hife '

(A)amleﬂzmnﬁﬂﬁr%

@B) s I ok wgw I <Al Ted T

(C) Fo I T8 ¢ R ®om II o §

D) e 1 e § R wed II 6§

TBC : 24/ECP/I—A 37 - - P.T.O.




50. Given below are two stdtements :

Statement I : B.R. Ambedkar started Vaikam Satyagrah in 1924 for temple

entry of untouchables.
Statement II : Jyotiba Phule was not associated with Republican Party.

In the light of the above statements, choose the most appropriate answer from

the options given below

(A) Boi;h Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
= € we fGw T ¥ .

w1 : iRl & At § 79 ¥ WO St 7 1924 § 9T TERR WK
[EX!

o 11 ;e we Rofers o @ e w9 8

IRfafed wodl & MR | A Ry U faewed d 9 w99 s SWow A
HITeE

<
~

(A) FaT 1 3R weA I A wer ¥
(B) %2 1 I %A II <Al Tod §
(C) o I 981 ¥ 3R A II oW ®

(D) %o 1 7o § SR wed I §e ¥

TBC : 24/ECP/1—A 38



51. Consider thé following statements regarding Panchayati Raj system in Himachal
Pradesh.

Statement I : In 1949 the Punjab Village Panchayat Act of 1939 was
enforced and 132 panchayats were established in Himachal.

Statement II : By the end of 1956, there were 466 Gram Panchayats and
26 Tehsil Panchayats in Himachal.

Choose the correct option from the following :
(A) Both statements are correct
(B) Only statement I is correct
(C) Only statement II is correct

fo

(D) Both statements are incorrect

foae Wy & TEed TS weet 9 wetid f owe |l W

W I : 1949 T Yoe 7w e sifutEe, 1939 @] R T #iR 132 TEEd
foTmm § Tl @t )

w10 : 1956 & .30 7% ferraa # 466 ww verd oK 26 T@w Tmd o)

S feed @ ol S ST

(A) 3w ¥

(B) fird wem 19 &

(©) fow wue I wd ¥ =

D) A FH T T €

TBC : 24/ECP/I—A 39 P.T.O.



I

52. Which of the following. statements are correct in relation to Right to
Information Act 7 '

(1) This act came into force on 12 October 2005.
(2) Tt repealed the Official Secret Act, 1923,
(3) It replaced the Freedom of Information Act, 2002.
(4) It does not protect freedom of expression and speech under Article 19.
O options given below :
@ @, @), @ |
(B) (1), (2), (3)
(©) (3), (@), (1)
(D) (1) and (2) .
ﬁwﬁf@aﬁ%aﬂwmmw%aﬁmw%waﬁaﬁ% ?
(1) =g efufEn 12 e, 2005@@15&“
(2) T W e sfufEa, 1928 9 fRe WA
(8) T YEA W W afufiem, 2002 it owew &G
@) T® =R 19 # W 9w g it F SToIdt @ WRen Yo e ek 1
ﬁmmmﬁﬁaﬁwaﬂwﬁﬁﬁ:
A @, (3), @ )
B) (1), (2), 3)
C) (3), 4), (1)
D) ) W (2)

TBC : 24/ECP/I—A 40



53. Consider the' following statements :
(1) Baba Kansi Ram was a great freedom fightext' of Himachal Pradesh.
(2) He was influenced by Gadar Party. .
(3) He took oath to wear Black Qlot}'les till India gets independence.
(4) He was given name of “Pahari Gandhi” by Sarojini Naidu.
Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (4) and (2) only
frafafaa wul W faER S .
(1) w0 wt T e WY % Tw ReW wasda S 8
(2) ¥ T Ul ¥ wafaa 9 |
(3 S T o o # e whe e e W
(4) S% WM =g 3 ugrEt e T R
T2 e g fomed § ¥ @l IW H g HIH
&) Faa (1) #R (@) )
(B) Had (2) 3 (3)
(C) e (1) 3l (3)
(D) e (4) R (2)

TBC : 24/ECP/I—A 41 ‘ P.T.O.
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54. Consider the followihg statements :

(1) Mandi was first state in Shimla Hill States in which Panchayati Raj Act

was passed.
(2) During freedom movement Lala Lajpat Rai never visited Mandi.

(3) Non-cooperation Movement did not start in Himachal Pradesh.

(4) Rajkumari Amrit Kaur from Shimla conducted Qﬁit India Movement.
Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (3) and (4) only

(D) (4) and (1) only .

frfafeg ot ® foaRr SiE .

(1) e feo voat & o< e T oo W0 UERE S D U g

(2) Ol AR & SRM el g I St HE T8 ey

(3) eTEEM sTier femraw waw H WY R gel

(4) TR SHEeR 3 farer § uRa SIS oTRen =@ |

= KT U fywed # ¥ WEH IW B g H9

(4) B (1) @) )

(B) = (2) 3R (3)

(C) Faet (3) o (4)

(D) e (4) 3R (1)

TBC : 24/ECP/I—A 492



55. Consider the following statemeénts :

(1) Constitution amendment bill can be introduced in any house of the

parliament.
(2) Centre and States have equal power to amend the constitution.

(3) Amendment in the seventh schedule requires the ratification by the
legislatures of not less than half of the states.

(4) Basic structure of the constitution can also be amended.

Choose the éorrect answer from the options given below :

(A) (1) and (3) only

(B) (2) and (3) only

(C) (4) and (1) only

@) (2) and (4) only N

Trefafen ot | faar =i -

(1) et G e TR BT T § G R o w1

(2) df99M & WYET H T T G5 H FAH AGHER WE

(3) wfaur =t wwel! STgyEt § uReads &g ond F srfys w9 faum oftes) Y wiisfa
SE T - =

(4) wfggm & g <9 F off deem fFm oo wwa B

I Ry U el § 9 W@ SW @ gE s :-

(A) = (1) 3R (3)

(B) = (2) 3 (3)

(C) waw (4) 3 (1)

(D) o (2) IR (4)

TBC : 24/ECP/I—A 43 N P.T.O.



56. Consider the following statements :

Which of the following are included in the original jurisdiction of Supreme
.Court ? '

(1) A dispute between Govt. of India and one or more states.
(2) A dispute regarding elections to either House of Parliament.
(3). A dispute between Govt. of Inciia and a Union Territory.
(4) A dispute between two or more states.

Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1) and (4) only

M) (3) and (4) only "

Frafafea Fud | fTar S

Frafefed § § SR8 gafes =mem & IR sieR &9 § om § 2
(1) 9Rd 9&R 3R % A & ¥ s u= & w9 Rar

@) T B TR R T ¥ dalm T B R

(3) ¥R TR AR HHaMiew W ® 77 foaw

@ AW Y el T A e

o o T fawed # ¥ wE SR w1 ey

(A) Haa (1) SR (2)

(B) =t (2) 3R (3)

(C) =t (1) 3R (4)

(D) %aa (3) 3R (4)

TBC : 24/ECP/1I—A 44



B57. Consider the following statements :
(1) There is no mention of no-confidence motion in the Constitution of India.
(2) A motion of no-confidence can be introduced in any house of the Parliament.
(3) A money bill can be tabled in either house of Parliament.

(4) The President cannot return a money bill to the Lok Sabha for

reconsideration.
Choose the correct answer from the options given below :
.(A) (1) and (2) only |
(B) (3) and (4) only
(C) (1) and (4) only
(D) (2) and (3) only
Frfafea ol W TR w= i .
(1) 9RG & GEuE § Afevew ye S IeE. 6§l
2) Jfeva™ &1 TwE W & fed sﬂwﬁfwﬁmmm%l
@) =9 fatew dug & e off wew # wgw fe w1 wwa €
@) Teeafy o7 Fdus S A 9w $ iEeR §g T A wWEan
9 iy faEe ¥ W@ W W YA FSE
() F5@ (1) @R @) )
(B) &l (3) 3R (4)
(C) Ja@ (1) 3R (4)
(D) e (2) 3R (3)

TBC : 24/ECP/I—A 45 - - P.T.O.
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58. Match List I with List II :

List 1 : List II
(@) Habeas Corpus Writ (i}  Re-examining Lower Court records
- by Superior Court
(b) Mandamus Writ - (@) Exercising Power under which
authority
(¢) Certiorvari- Writ (iii) Restricting offic_:ials to act
(d) Quo Warranto Writ (it;) To produce in person

Choose the correct answer from the ‘options given below :.
@ ® © @ |
A) @) @ @) @
B) @) & @) (v
G G @) @ @
- D @G @ @ G
T H g Y freE S

et 1 | g I
(@) T GI&NFHTT ST @) afss < R M = & &
(%) TR S @) e ww @ e whR WM
() SIS AT (i) SMEHTd +t HHEAE W UF
(d) SATEBRY=S AR () =afFmE w9 § sufem

Ao Ry T fowed § F WE SW H gAE BT
@ @& - @ @@ -
A @ @ @ G
B) @) @ @G G
© G @) & G
D) @ G @ @D

TBC : 24/ECP/1—A - 46 -




59. Match List I with List IT P

‘List II

List I
(Commissions) (Years of Establishment)
(@) National Commission for Women @ 1953
() National Human Rights Commission (i) 1992
() Kaka Kalelker Commission (Zi)) 2005
(d) National Commission for Protection () 1993

of Child Rights

Choose the correct answer from the options given below :

(@ & @© @
A @ @ @ G
B) @& @ GG (v
. O @D @) @) G)
D G G G G .
=t 1w g I @ e s
.n;eﬁ I =i 11
(AT (FATTET )
(@) TG wAfgen s @ 1953
(b) US AR SR @ 1992
(c) TRIHT HICRTRT AR (i) 2005
(@) U™ AR gRen srEm (v) 1993

2 Ry et § ¥ W owR W o SR

@ ® @© @
(A) @) Gv)y G G0
B & G G @)
© G @ G 6
®) G). GiD) G G)
TBC : 24/ECP/1I-—A 47
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60. Match the Members of Legislative Assembly of Part ‘C’ state of Himachal Pradesh
from Mandi District (1952-56) with respective constituencies :

List I
(Name of the Members)

(@) Gauri Prasad

(b) Karam Singh Thakur

(¢) Besar Ram
(d) Rattan Singh

Seleet the correct choice :

(@ &)
(A @) (v)
(B)Y G @)
© @ @
(D) Gv) i)

(e)
@
@

(@)

(1)

(d)
(i)
(iv)
(¢it)

(@)

List TI
(Name of the Constituency)
(@)  Joginder Nagar
(&) Karsog
(tii) Rewalsar
(tv) Mahadev

me”rfaﬁﬁ(195256)‘vﬁzﬂ'm%ﬁmwmwwﬁwqm?ﬂa
g7 ¥ foem =i .

o 1

(FSH 7 =)

(@ R TER

®) = fig oot

(c) TR T
(d) @ fug

gEr 11

(T &)
@) SIfrg TR
(@) Lan
(iii) TEmEER
(iv) R

ﬁ%ﬁqwﬁaﬁﬁ@uﬁmm?ﬂaw

(@) (@)
(A Gii) (v)
B) G i)
© 6 G
D) Gv) Gi)

TBC : 24/ECP/1I—A

@
@
@)
(iv)
(iD)

(d)
()

I(iv)

€273
@)

48°



61. Till when the Indian government has extended the Pradhan Mantri Ghaljib'

Kalyan Anna Yojana ?
(A) December 2026 (B) December 2027
(C) December 2028 | (D) December 2030
IRA TWEHR ¥ FUE H WS Fedw o1 A9 B w9 9 de K § 2
(A) feder 2026 (B) -fewsr 2027
(C) TweR 2028 (D) f&EsR 2080
62. Economic Growth in country X will necessarily have to occur if :
(A) There is technical progress in the wivorld economy
(B) There is population growth in country X
(C) There is capital formation in country X
(D} The volux;ne of trade grows in the world economy
X oniw fawm s vy 3 g e A
(A) forem wiaaw R qEE W §
®) W X # wwen 7% ¢
(©) 3w X # O fmiw &
(D) forz aﬁaaw T R ] A SEh

TBC : 24/ECP/I—A 49 - : : P.T.O.




63. Suppose, the poverty line as measured.by Monthly- Per Capita Expenditure
is Rs. 1,000.

MPCE (in Rs.) of 10 Households

r

State A| 800 | 850 | 900 | 9501 1200 | 1100 | 1150 | 1050 | 1250 | 1300

State B | 400 | 450 | 550 | 650 | 1100 | 1200 | 1300 | 1350 12..50 1400

Statement I : Head Count Ratio of State A is less than Head Count Ratio
of State B.

Statement II : Poverty Gap Ratio of State A is less than Poverty Gap Ratio
of State B. .

In the light of the above statements, choose the most appropnate answer from

the options given below : |

(A) Both Statement T and Statement 11 are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II ‘is inicorrect

(D) Statement I is incorrect and Statement II is correct

o Hifee, i of =i =9 g T T TRe Y& 1,000 T i1

10 URERT &1 TATRAE (9T )

T A 800 | 850 | 900 | 9507 1200 | 1100 3;150 1050 ¢ 1250 § 1300

[

T B 400 | 450 | 550 | ‘650 | 1100 | 1200 | 1800 | 1850 | 1250 | 1400

FIT L : T A F 38 e 9700 9 B & ¥ SRS oTUQ ¥ FH T
FHAT I : T A T RIS SR IR I B F O R AT F FH B
%ﬁ?@ﬁ%ﬁﬁwmﬁ%ﬁqwﬁmﬁﬁmdm dﬂ{ﬂg-ﬂq
(A) weA T oK wu 11 R wer £

(B) ®eF I 3R wem II <91 o &

(C) ®ed I 9 § IR & II Toid ®

(D) Fu I o © R Hed II w& §

TBC ; 24/ECP/1I—A 50 -



64. Given below are two statements :

Statement I : Trickle Down Theory says that let business flourish, since their

profits ultimately trickle down to lower income individuals.

Statement II : Economic Theory predicts that inequality will increase during

recessions and decline during economic booms.

In the light of the above statements, choose the tmost appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is eorrect

R % fyu g ¥

w1 o TS i e & R e e 2, w6 S e

A HA I AR AfRE b U Tew W g

w10 : mewﬁwﬂm%%ﬁﬁﬂmwmaﬂ?aﬁ%
3T & A FREe e

-
~

safafea ol & SR W A Ry M feed 4 9w ohw wR oW g

CAIEE I

(A) F9 I @ik o 102 o &
(B) Fo I #iX wer 11 ¥t wrom %
(©) %o I w8 § iR wod 11 o §
(D) =97 I T & ok wor I Wl %

TBC : 24/ECP/I—A 51 ’ ' P.T.0.
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.65. Given-below are two. statements :

Statement I : As of December 2023, around- 1.3 crore candidates have

received training under PMKVY.

Statement II : Out of these candidates around 60 lakh individuals have been
placed.

In the light of the above statemerits, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) ‘Both Staltemelit I and Statement II are incorrecf;
(C) Statement I is correct and Statement II is incorrect
‘(D) Statement I is il_;tcorrect and Statement II is cérrect
= e g g ¥

.WI: feder 2023 o, T 1.8 TS IERIR 7 PMEKVY & ded wiyer
T fea ¥ ‘

Wﬂiﬁ?ﬂﬂﬁrﬁﬁﬁaﬂm%_waﬁaﬁaﬁmﬁﬂi%l

IuRfafem weri % MR- = fRu  fawed § ¥ w90 3w S oW g
I

(A) . FoF I &R Fed 11 SR o § )
(B) %o 1 iR @ II SF1 Tow

(© w1 9@ ¥ sk w1 Em &

D) weA I Mo § AR weH II W

TBC : 24/ECP/I—A 52"



66. Given below are two statements :

Statement I : The volume of E-way bill generatiém in India continues to

grow steadily.

Statement II : Rail freight traffic and port cargo traffic are growing at a
healthy pace.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Bo;ch Statement I and Statement II are incorrect

(8] étatement 1 is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

e s Ry T ¥

waT I : 9 # -9 99 SMEd & 960 @R 9% @ 6

o 1+ X T A S ST w A e S e w i
sofRfafe wodl H R W A8 Ry T e # ¥ v St W W g
EHECE ’ |
(A) ®o 1 &R Hem I 99 W& % &

(B) %o 1 3R wed I SH1 o &

(C) %97 1 ¥ § X & II o ©

m)mm;m%aﬂtmmnﬁﬁ’r%

TBC : 24/ECP/I—A 53 . P.T.O.
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67. Consider the following Health programmes and policy :
(1) The National Health Policy -
(2) National Health Mission (NHM) . P
(3) National Rural Health Mission (NRHM)
(4) National Urban Health Mission (NUHM)

With reference to the Health programmes and policy mentioned above, in terms
of their starting year which one of the following is the correct order year ?

Choose the con;ect answer from the options given below :
A) (1), 3), @, @)
(B ), @), (3), @)
(C) (2), (4?, (1), 3)
D) @), D), ), @)
frferfian @Rer Ewd ok e W fER w26
1) wdE W i
(2) U= wreE fiem (Tee)
(3) TSR A e fee (THeTET)
(4) T e WRen e (TRTET)
SuRfafed e srwd ol i F g § o wrfvs o § w=f #§ fretafes
H Y HAE T W owm oA ¥ 2 -

e U Y fawed # ¥ W SW W e i
(A) (), 3), (2), @
B) (1), ), (3), (4)
© @, @), (1), 3)
D) (@), ), (3), 2

TBC : 24/ECP/I—A 54 -



68. What is the correct order of various social service schemes in India according

to year of origin ?

(1) Pradhan Mantri Jan Dhan Yojana'

(2) Sukanya Samriddhi Yojana

(3) Rashtriy Swasthya Bima Yojana

(4) National Social Assistance Scheme

Choose the correct answer from the options given below :

A ), @), 3), @)

(B) @), (3), (1), (2)

€ @B, 3), @), (1)

D @), @), @), 3 .

ura # fafes wmifses fer deell @ sl od B eigEr el wW e ¥ 2
(1) 9u™ ¥t 59 &9 A

(2) gF=an wifs e

3) U e S A

(4) U W weE A

W RE e frpedi A 9 W@ SR H OPE 0D
@ @, @, 3, @

(B) (4), (3), (1), (2)

) @, 3, @, D

D Q), @), @), 3

TBC : 24/ECP/I—A 55 ¢ , P.T.O.




69. With reference to the gteady decline in the mortality rate over the years, consider

the following statements :
(1) Control of epidemics such as cholera and smallpox
(2) Expansion in incidence of malaria and tuberculosis
(3) Contraction of education and decreased literacy

(4) Improved sanitation and hygiene.

Choose the correct answer from the options given below :
(A) {1) and (4) only

(B) (2) and (3) only

(0) (1) and (2) only

D) (2) and (4) only

frodl o2 oo ¥ g w § wieR finme & ey #, fraffer s | fER
SIS

(1) T iR = St HeriE W fEso

(2) waiftan ol aifgs &1 weael # fawnr

(8) Toen =1 dgpEw SR wieRar § &

(4) e SR WE-UEE W ger

A= T g e § ¥ W@ TW B TE R

(&) e (1) i @) )

(B) =ad (2) 3R (3)

(C) &ee (1) R (2)

(D) Ha (2) 3R (4)

TBC : 24/ECP/I—A . 56-



70. Consider the following statements :

(1) Himachal Pradesh Government approved an outlay of 1200 crore rupees |
for economic services during 2022-23.

(2) Himachal Pradesh Government approved an outlay of 267 crore rupees
“for rural development during 2022-23.

(3) Himachal Pradesh Government approved an outlay of 140 crore rupees
for Mahatma Gandhi National Employment Guardntee Scheme during
2022-23.

(4) Himachal Pradesh Government approved an outlay of 22 crore rupees for
"~ Forestry and Wildlife during 2022-23.

Choose the correct answer from the options given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (2) only
(D) (3) and (4) only s
- Frafafes woit = R SR

(1) ﬁnﬁamwﬁmmza%ﬁmaqﬁm@mﬁ%mmoomm
% Remm ® HSE S

(2) mmwﬁzmzzsa%ammﬁmﬁm%m267mm$
. afema i As )

(8) Tomem YW TR ¥ 2022-23 & SRH HereT THt W ISR MRS e B
fa 140 s v & wfiem = s <

(4) femead WO WHR 7 2022-23 F AW ot ok a=niay & fag 22 @i
TS % URed R Hed €

A9 R T el A W TR F o R
(A) S (1) 3R (3)
(B) e (2) &R (3)
(C) @aa (1) 3R (2)
D) Had (3) ¥R (4)

TBC : 24/ECP/I—A 57 . : P.T.O.




71. Match List I with List I : -

_ List I ; List II ]

(@) Sandeep Shastri @)  “Gender Demographics and
Empowerment in India”

®) Kalpana Srivastava ) ()  “Demographic Profile and Health
' Status of Older Adults in India”
(¢) N. Neetha (@iit) “Demographic Dividend in India :

- Myth or Reality”

(@) Mridul Eapen (fv) “Demographic Shift and its Impact

_ on Indian Polities”

Choose the correct answer from the options given below :
@ ® ©© @

(A) @) @ @) @)

B) @ @ @) @)

© G @ O i)

M & @ vy G) .

R I g IR gAfed i

TR 1 . et IO
(@ w9 Tt G “urg § A sewitemw! oiR stiiemRan’!
®) FeF shtere | @) “<rrifEE TR iR TR § gs au
; & W g _
€ T Gi) “'9Ra § SwifemwmE A ;o fHew 9@
, Freatoepar 2’
(@) Hg WA Gv) ' SFEifeTEE St SR WReE TeEI W
: EGEIIR A

e few v fased § ¥ W@ SW A A R
@) ®) @ (@
(A G- @& @ (v)
(B) @ @ @) Gv)
© G @ 6 G
O & @ @) G

TBC : 24/ECP/I—A 58 .



72. Arrange thelfc_:llowing Committees in proper chronological order of their

establishment : .

(1) Alagh Committee (2) Tendulkar Committee
(3) Rangarajan Committee (4) Lakdawala Committee
Choose the correct answer from the options given below :

@A) D, D, 2,3 - (B) (2), (1), ), (8)

(C) 4), (2), 3), (1) (D) (3), (@), (1), @)
Frefafan wfafEl @t swht v & Sfaa FemEe § safen sl
(1) e witf 2) teaw wfufa

(8) TS wfafa (4) wRSTEnE wfafa

e T fased §  wd sW ow g s s

A) (1), @), @), 3) B) @), (D), D), 3)

(C) 4), (2), (3), (1 D) (3), (2), (1), 4)

73. Arrange the following events in proper chronological order :
(1) Mahbul-ul-Haq prepared the HDI (Human Development Index)
(2) Morris D. Morris developed the PQLI (Physical Quality of Life Index)
(8) Alkire and Foster developed the MPI (Multi-Dimensional Poverty Index)
' (4) The term ‘Gross National Happiness’ coined by Bhutan’s king Jigme Singye

- Wangchuck
Choose the correct answer from the options given below :
@A) U, (4, 2), 3) : B) (2), (1), (4), 3)

(C) @), 2), (1), (3) D) @), (2), (1), (4)

fretafen el # sfaq wrrgEn § =mfer S .

(1) 7ege-3e-8F 7 CHSIE (Ve fawm geeie) WER R .

(2) wRw & #fw ¥ PQLI (Trfvwe waifvrdl oifs omw oww) fosfaq fean
(8) Rt @R WReT ¥ MPI (Sgetl WSt yueiw) famiad e

4) EE & o A A agE gN T T Cwee U gyl e

e R Ty faeed WY W SW oW e s

(A (1), @, (2), (8) (B) (2), (1), (4), (3)

€ @, 2); M), 3 . O 3), @), M), 4

TBC : 24/ECP/I—A 59 - P.T.O.




74. Match List I with List II :

List I List II
(@) SDG 2 @) Decent Work
&) SDG 5 (i) Zero Hunger
- () SDG8 (i) Gender Equality
(@ SDG 10 (v) Reduced Inequality
Choose the correct answer from the options given below :
@ b © @
A @ @) @ @)
B O @) G G
©) Gy G G @
M Gv) & G G
T I % g 109 frem s
gt 1 et 1T
(@) THESH 2 G) W= FH
@) TEERT 5 @) I
(¢) THSHST 8 (i) AT GHEA
(d) wEErsT 10 _ (i) STEHTC H HH
9y T freedl § ¥ @ SW w1 IO i
@ G). e @@ -
A @ - @) @ @
(B) G) Gv) G GD)
© G @ G 6
@ G @ @ @)

TBC : 24/ECP/I—A

60 -



75. Match List I with List II :
List I

(¢) Chronic Poor

(6)

Churning Poor

(c)
(d) Occasionally Poor

Non-Poor

Choose the correct answer from the options given below :

()
(iit)
(i)
(@)
@)

()
(7))
@)
(i7)
(iv)

©
@)
(#ii)
(iv)
(i)

@
(i)
()
@
(1)

(A)
(B)
(&)
(D)

T I W R 11§ e i

et 1
() < TR
() | TS

) -
(d). FH-Ff W

o g Y fomedl § ¥ WE SR # A S

(@)
(i)
@)
(#ii)
(v}

)

(373

(v)

(@)
. @

(e)
@
(£123)
()
()

@)
(iv)
1))
@

(zit)

(A)
(B)
©
(D)

TBC : 24/ECP/I—A

.List II

(i) Below the poverty line most of
the time_

(@) Rich most of the time but
sometimes, out of a business
fluctuation become poor

(zii) Always above the poverty line

(fv) Regularly move in and out of

poverty

b

e 11
(@) R §9E TE @ e =

() SRR 99T € BN T SfT wei-sl SR
# JAN-ed & HRU TS o WA ¥

(i) &Rm TE 3@ " W
(iv) ﬁﬂﬁawﬁnﬂ?ﬁ%wmww

61 P.T.O.




76. The marginal productlwty of disguised unemployed workers is :

(A) Zero . (B) Not zero

(C) Less than zero ' (D) Greater than zero
T aSTIR AfHe @l g Scewa o

(A) = : . B) I W

(C) @ | ot & D) Y= d s ower

77. What percent agriculture and its allied industries account for the total Gross |
State Value Added (GSVA) of Himachal Pradesh ?

(A) 13.70% (B) 10.61%

(C) 15:10% D) 14.91%

feue ww # FfY SR T Heg SEm W ww 9k geu aifa @1 fRay wRwe
T ?

(A) 13.70% (B) 10.61%

(C) 15.10% (D) 14.91%

78. Arrange the following years based on the number of forexgn tourist arrivals
- in Himachal Pradesh in descending order :

(1) 2020 ' 2) 2021

3) 2022 (4) 2023 (up to December 2023)
Choose the correct option. :

(A @, 3), (2), (1) B) @), (1), 3), @)

(Cj (3), (1), (2), (4) D 3), @), 2@, 1)

ﬁ%mmaﬁaﬁﬁwmﬁﬁ%&ﬁmaﬁmmmmmﬁamﬁ@
w9 ° fafed .

1) 2020 - @) 2021

(3) 2022 (4) 2023 (IR 2023 )
we fowes 9w .

A) @), 3), @), 1) . B) @, 1), 3), @

(C) @), (L), (2), @) D) 3), D), 2), (1)

TBC : 24/ECP/I—A 62



79: *For the-year 2022-23, matchi the Industry-sub-sector in Himachal Pradesh with
the percentage of workers employed in them : s

(@)
_ (b)
(3]

@

List T List 11

(Industry Sub-sector) (Percentage of Workers Employed)
Mining and Quarrying 5 e 20
Manufacturing ' - - - iy 4L

Electricity and Other " Gi) B0

Utilities : | ]
Construction - @ 7 ‘

" Choose the correct option :

@ & @ (@

A) @) @) @) D

®) G) G Gi) 6

© @) @ @ @)

M GH @ @ G
asfzmzzsﬁﬁqﬁau%wa‘:aaﬁ%m%am mm(uﬁm)ﬁﬁaﬁ
Hifed.

gt I et 11
(@) T T SR @ 2
®) ST - Gi) 41
() fostelt wen e/ w?rf‘rrarrq Gii) 50
(@ o ‘ Gv) 17
e foher Y -

(A)
(B)
(€)
)

@ ® @
@ @) Gy @)
@ Gv) @iy @)

o) @D @ @)
Gi)) @ G o)

TBC : 24/ECP/I—A " 63 ) oo P.T.Q.




80. For the year 2023-24, match thé_type/name of banks with their total number |
of branches in Himachal Pradesh :

List T List II

(Type/Name of Bank) (No. of Branches in HP)
(@ Public Sector Banks (PSBs) ' @ 267
(b) Private Sector Banks (PSBs) - @) b68
(¢©) Himachal Pradesh Gramin Gii) 1,170
Bank (HPGB) '
(@ Himachal Pradesh Co-operative () 274
" Sector Banks

Choose the correct option :
@ ® © @

A @) @ G @D

®B) @ @ G ©

© @ Guy @ G

M) Gi) G) @ O 3
ﬁ:maau&ﬂﬁasfzozsmﬁmﬁﬁ%ﬁwwﬁmwﬁaﬁm%
Ty feme

g 1 : = 11
(S B THR/AR) (vrETd)
(@ WSt @ F6 (T S ) G 267
®) foft & S (F @ = ). (i) 568
(o) Tomw Wy el §% (TE @ ST S Gii) 1,170
(@) T W Wewll &% S | (o) 274
wE oo g - :

@ & @ @

Ay Gi) @ (o) @

(B) (i) Gv) G @

© & G @ 6@
M) @) @ G ©

TBC : 24/ECP/I—A 64



81.

82.

83.

Gir National Park was established in the year :

(A) 1955 ' -0 (B) 1974
(C)y 1975 (D) 1968
iR usdE SuA H) s fee T oWl T 2

(A) 1955 | B) 1974
(C) 1975 D) 1968
In Japan, a cyclone is called as :

(A) Hurricane (B) Typhoon
(C) Willy-Willy (D) Whirlpool
wIqA § e WS W T

-(A) BT ‘ (B) <R®I
(©) foeeh-Toeet (D) =g

Given below are two statemenis :
Statement I : Directorate of Forest Education is located at Agartala.

Statement II : Tropical Forestry Research Institute is located at Jabalpur.
In the light of the above statements, chpose the most appropriate answer from
the options given below :

"(A) Both Statement I and Statement Il are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II is Incorrect.

(D) Statement I is incorrect and Statement II is correct.

9§ W e W E

w1 : = e FRymem svraen # Rem €

FAT 11 ¢ S0 Sl aife Squue TR seaR # few ¥
SuifefEe Hor & omaR W 99 Ru T fawed # @ we® sfud IW W g
Hifed ' B -
(A) wuT I 3K HoF I <9 o ¥

(B) %o 1 3R %o II S Tew ¥

(C) woF I W& T oK %eor I e ¢

(D) %o I Ted § iR FoF I W T

TBC : 24/ECP/I—A ' 65 . : P.T.0.




84. Given below are two statements :
~ Statement I : Teak is the dominant species in vast saline regions of India.
Statement I : Babul vegetation pertains to tropical evergreen rain forests.

'In the light of the above statements, choose the most appropriate anéwer from

the options given below :

(A) Both Statement I andl Statement II are correct. '

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II is incorrect.

(D) Statement I is incorrect and Statement II is correct.

T we Ry o ¥

AT L : WO wRa & faene @R & ¥ wgm v ¥
HAT I : 9 STl Sk geeRr o o & Wt ¥

Suftffen Fot & omeR W HY Ry T feeed § ¥ w0 sk s W g
Hitera

(A)‘%WIW?WH@HTE@%I
(B) we I iR wem II 3F1 7o ¥
(C) ®ew [ W&l § ok ®9 II Teid B

D) e I Tad ¥ iR o I 58 &

TBC : 24/ECP/I—A - 66



85. Arrange the following National Parks of India from East to West :

(1) Corbett National Park ' (2) Kanger Ghati National Park
(3) Rohla National Park (4) Valvadore National Park
Choose the correct answer from the options giveri below :

A) (2, @, (1, 3 B). (2), (1), @), (4)

(C) (1), (2), 3), (4) M @), 3), @), .’(1)

aE % Frefefen o9 soR @ @ ¥ iEw @t i ek wiE
(1) wiee TG ST (2) wHIR =N U= S

@) een WA A (4) dweaTeRr T SUF

A R e Reed § @ 9@ SW H e R

A @), @), 1), 3 B) @), 1), 3), &)

© ), 2), 3), 4) O @), 3), @), (1

86. Arrange the following Institutes of India from North to South :
(1) National Bureau of Animal Genetic Resources
(2) National Bureau of Plant Genetic Resources
(8) National Bureau of Fish Genetic Resources
(4) National Bureau of Agricultural Insect Resources
Choose the corl‘rect answer from the options given below :
(A) (1), (2), B), @ ®) @), 3), @), D
(C) ), 4), (), (3 M (1), (3), (2), 4)
ane § Frefifed S 91 SR ¥ < sEfe Fifd
(1) T WY SgEteh SEE S
(2) TEE UEY e HE S
(3) TS T SEfR wEEE =l N
(4) T FHE HlT GHET QA
= e e feed # ¥ Wl SW R CTAE SN
A) (1), @), 3), @ B) @), 3), (2), (1)
©) 2),.4), (1), 3) D) (D), (3), (2), (4)
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87.

88.

Consider the following statements :

(1) Travancore agrobiodiversity Hot spot pertain to Rajasthan..
(2) Konkan agrobiodiversity Hot spot is in Maharashtra and Goa.
(3) National Herbarium of cultivated plants is at New Delhi.
(4) Triveni agrobiodiversity Hot spot pertain to Assam.

Choose the correct answer from' the options given below *:

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D} (1) and (4) only
Frefefes o W fomm =10 .

(1) TR i Sefafaam g e gowem @ getg §)

(2) wwv FY SEfafya @ o TR 6k der § fem ¥
3) &t et Wl w I TRueE (whEm) W fRedt § ¥

(4) Bl $fy Sefafava g e swm ¥ e &)
Fﬁ%ﬁqwﬁwﬁﬁﬁﬂﬁmmmﬁﬁlﬁ:

(A) e (1) iR (2) (B) whee (2) 3R (3)

(C) o (3) 3R (4) D) e (1) 8% (4)
Consider the following statements :

(1) Monkey valley lies in Chamba.

(2) Kiarda Dun valley lies in Kangra. :

(8) The Great Himalayas are referred as Alpine zone in Himachal Pradesh.
(4) Churadhar pertain to Zanskar range in Himachal Pradesh
Choose the correct answer from the options given below :

(A) (2) and (3) only (B) (1) and (8) only

(C) (3) and (4) only _ D) (1) and (2) only
Fretfefen Fol = frew R

(1) & uet owar # feom ¥

(2) TFarer €7 9= wmer § fem &

@) few=e ww # wea fomem =1 oews &9 % AR w S s
(4) SIER fegrrer wou # Wit afm ¥ gefig ¥
ﬁ%ﬁqmﬁmfﬁ@nﬁwwgﬂaﬁﬁﬁ:

(A) wuer (2) 2R (3) (B) o (1) 3R (3)

(C) we (3) ¥R (4) (D) == (1) 3R (2)
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89. Match List I with List II :

List I List 1I
(Ramsar Site) (Name of State)
(@) Rudrasagar lake @ Punjab-
(b) Harike lake (@) Assam
() Deepor Beel lake (D) ’Tripu.ra
(d) Vembanand wetland (iv) Kerala

Choose the correct answer from the options given below :
@ ® © @
Ay G @G @ G
@) Gv) @E) @ O
_ €y @) @ @ ()
D) @) & Gu) @)
W IH gE I ¥ frem wilsd 2 o

il gt 11
(T &) , (TS &1 A1)

(@ ¥R e G) e

() = i, (i) omE™

(¢) <R i« 3 (i) Tga

(d) owrrs s g Gv) &

F f T feed § ¥ e sw W g i
@ & © @ h
(A @@ @) G (v
B @ @) @G O
€ @) ® @ (v
© @) O ) )
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90. Match List I with List T :

List I List II

(Waterfall) | (District)
(@ Rahla @ Solan
) Bhagsu C @ Kengrs
() Badri (i) Shimla
() Chadwick (v) Kullu

Choose the correct answer from the options given below :
@ B © @
(A @) GG @ @)
(B) Gv)y G G @
©C) Gv) @) G G
M @ G @) Go)
T I R I fhem iR

et 1 = 11

(SFeT9uTa) (fSrem)
(@) B @ W
() Wy (@) IS
@ =& . ' (7)) fmen
(@) =sfas () HHY

e Qg T el § ¥ W@ SW oS g9E i
@ @G @ @@ B
A @ G @ Gi)
B) @(v) @ G 6
©C) Gv @) G @)
D) @ @ GE) Gv)
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91. Arrange the following climatic zones of Himachal Pradesh according to rainfall
amount from lowest to highest :

(1) Frigid aridic zone
(2) Wet temperate zone
(3) Humid sub-tropical zone
(4) Sub-humid sub-tropical zone
Choose the correct answer from the options given below :
(A) (2), (4), (1), (3)
B) (1), @), 3), @)
(€ (1), (3), 4, (2)
D) @), (1), 3), (2)

ferm=e wew & fefefen Soemg &5 S ont # A 6 IFER S 9 e
St AN oy wie

(1) ¥a = &= .
(2) 3R SRS &
(3) o Sa-hicseha &
(4) Su-ans SUS-sfedd & : "
T Re T el § ¥ w S W g s '
(A) (2), 4), (1), 3)
(B) (1), B, (3), (2)
© D, 3, @, @
@ @, (1), 3), @
92. Which of the following processés is not related to nutrition ?

(A) Ingestion (B) Assimilation
(C) Egestion (D) Scouring
freiefes & & ®Fe afwar digo J deifum 78 & 2
(A) ST - (B) wEiiwTm

(C) s D) sfmET
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93. The process by which the heat comes to us from the sun is called :
(4) donvection B | (B) Radiation |
(C) Conduction (D) Dispersion
W ¥ §9 9% T W ST WHITHl WHH seanl § 2
(A) weE | (B) fafeco
(C) e (D) foeRm
94. Given below are two statements :
Statement I : Upper jaw is an immovable joint.
Statement II : The cartilages are harder than bones.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement IT is incorrect
(D) Statement I is incorrect and Statement II is correct
9§ @ Ry ¥

HIA I : SUN TS TE oW | R

HUT I : ST A =i sdEr HN e

‘@ﬁ%@ﬁﬁﬁﬁwmﬂﬁmﬂﬁmﬁﬁmdﬁd S H I
ity

(A) ®uA I 3R oM I <A1 o €
(B) %¥ I 3R %y II <Fi 7o §
(C) 9T I W& ¥ iR %o I o ©
(D)esaqlﬂaa%eﬂt#mnﬂ@%
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95. Given below are two statements :
Statement 1 : Ruéting of Iron is a chemical change.

Statement IT : The process of depositing a layer of Zinc on Iron is called

galvanisation.

In the light of the above staterﬁents, choose the most appropriate answer from

the options.given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

-

(D) Statement I is incorrect and Statement II is correct

= weA e e ¥ .

HIT I : W | S A T GEEtE uiads S
®UT 1 : W W NF B W Wel w1 W avR-9 Feei

wofifefed Forft & emem W AW R T e § Y W st SR W T
Hifed

iA)mmIaﬂtaﬁmIiﬁﬁ%
(B) %o I IR FoF II o9 o §
(C) Fo7 I 98 § &R %o 11 o7 &
(D) mﬂ?iw%aﬁtaaﬁﬂﬂﬁ%
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96. Aﬁange the following gases according to speéd of sound in them from lowest

to highest : ;

(1) Sulphur dioxide (2) Helium

(3) Oxygen (4) Hydrogen

Choose the correct answer from the options given below :
A) @), @), 3), @ B) @), 3), (2), 4)
G @, 3, D), @ . D) (3), (4), (1), (2

freffed i B ST Wi ® T P oEER e @ veew W § wERd
FfE ;-

(1) T SE3FIES (2) Wfcrm
(3) erior | (4) TESSA .
H2 Ry U fomel § ¥ W SW w1 wE Sy
(A) @), (1),(3), 4) ®B) (1), (3), (2), (4)
©) @), (3), (1), (2) D) (3), (4), (1), () -

97. Consider the following statements :
(1) The innermost part of flower is called ovary.
(2) Leaf usually has a lamina.
(8) Roots absorb water and minerals from the soil.
(4) Petals is not the part of a flower.
Choose the correct answer from the options given below :
(4) (1) and (2) only (B) (2) and (4) only
(C) (2) and (3) only D) (3) and (4) only
Freafafes =l w fomar 1T )
() 35U & & § o wm =) sien™ &8 €
(2) WHE: T A Wers e g . -
3 = Tt ¥ v wd wi e wel wr sEeiew st ¥
(4) UgEl TSU w A T )
T fu T fowedl § ¥ v TR W g FRE
(A) o (1) 3R (2) B #w (@ ¥R @
(C) e (2) ¥R (3) D) e (3) IR (4)
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98. Consider the following statements :
(1) Insulin regulates blood sugar level.
(2) Secretion of estrogen occurs in males.
(3) Deficiency of iodine may cause dwarfism,
(4) Thyroid gland regulates metabolism for body growth.
Choose the correct answer from the options given below :
@) (1) and @) only
(B) (2) and (3) only
(C) (1) and (4) only
D) (2) and (4) only
Frfafen s | fTeR =i
(1) e w7 T90 ' H e S E
(2) TENH % FEU R/ H A
(8) AN w wHt § ST | R B
(4; aeEs I IR B gfs F A ST s fran s g
T few wu fawed § ¥ W S| w oGP iy
(A) daw (1) 3R (3) i
(B) et (2) 3R (3)
(C) daa (1) iR (4)
D) Heet (2) 3R (4)
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99. Match List I with List I : _
List X List I

(Acid) ~ (Found in)
(@) Lactic ' ” @  Curd
(b) Oxalic (i) Spinach
(¢) Tartaric (fii) Ant’s sting
{(d) Formic () Grapes

Choose the correct answér from the options given below :
@ & @ @
@A @ O @) @
_ B) @ @D G G
© @ @ G @D
D @ @ O G o
et 1w g 11 ¥ frem sifeg e

g I T 11

(31) (Rradl rEn ST
(@) wfeeh G <T@ «
(b) oot (i) TS
(€} =i G = Eh
(d) hIH® (iv) TR

= e faged d A Wl SR W T S
@ ©® © @ |

&) G @ @) i)

® O G @ @

© & G @) G

™ G @ 6 6@
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100. Match List I with List I =
List 1
(Scientist)
(@) - Galileo
{b) Hertz
(¢) Robin Warren
(@) Edward Jenner

Choose the correct answer from the options given below :

@ ® @© @@
A G 6@ G 6@
®) G & @ @
©) @i G @ G
O G 6 G G

List II
(Country)
()  Germany
(ii) England
(@ii) Ttaly
(fv) Australia

gt I ge 1§ e sid

g 1
(Fren)
(@) it
) T
€ U TRA
(d) TEEE SR

et I

(T=g)
@ e
Gi) T
(i) el
(iv) emefern

= fu g foredt H ¥ WE TN FOEE i~

@ & © @
@) G @ G GE)
®) G @ G G
© G @ O 6
@ G @ G G)
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